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mams [ABE)]: ReSEAE [F9102) Under the BASEL framework, please answer the following questllons. |
#HEB— BITBAFAZNAAALFEALEEZAREA - 2B T A% 2 =(Basel lll) 1.What are the 3 pillars under the framework? [94-]1 What is the brief of each?
X#% B A [94]
kFRENG B0 F R - 2.What kind of the process that banks should adopt under Pillar 2? [34-]
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AEEE  FARF o o Plea§e list 2 risk ty.pes that bank should consider under the process (beside
QAREA—REd LAWK JFEEE » LABE B 25 5 - credit/market/operational risk). [44-]
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(CVA » Credit Valuation Adjustment) - % # &R A X 5 H F12 A AR
(Counterparty Credit Risk, CCR) 47 ? [5 4] CVA REixrrds A147 7 [4 5]
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According to the credit risk Internal-based approach, please answer the following
questions.
1.Please list and explain the 3 credit risk factors. [154-]
2.Please define the EL (expected Loss) and the UL (unexpected Loss). [64-]
What'’s the relationship between EL, UL, provision and capital? [44-]
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